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1650
1850
1850
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28,0
28,8
28,8
29,0
29,1
29,2
29,2
29,3
29,3
29,4
29,5
29,6
29,6
29,6
29,6
29,7
29,7
29,7
29,8
29,8
29,8
29,8
29,8
29,9
29,9
29,9

A = 700, B = 350, C = 700

L1 = 950 mm

L2 = 0,5 ×   950 -  tg 29,6    = 0,5 × (950 - 1232,22)

L2 = - 141,11 p - 141 mm

L3 =    cos 29,6   -     2    × tg 29,6   = 1254,75 - 99,41

L3 = 1155,34 p 1155 mm
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D U C T  S Y S T E M S

3 0 °  b r a n c h  p l a t e s ,  g a l v a n i s e d

Diameter: ø80 – ø1000 mm.

Galvanised branch plates are made of 0.90 mm  
sheet metal.

State A-, B- and C dimensions when ordering. 
Options are limited by A = C, and A ≥ B.
A = C must be max. 1000 mm.

The branch determines the length of L1.
Branch plates are always straight with the branch  
centrally located.

If B < 300: X = 50 mm
If B > 300: X = 100 mm

Se
le

ct
 (8

0 
- 1

00
0)

Ca
lc

ul
at

e

Ca
lc

ul
at

e

			     	Dimensions			
	 A = C	 B	 L1		  L2	 L3	  
	 mm	 mm	 mm		  mm	 mm	  ∝	L1 = see table

L2 =  
2

  ×  L1-  tg∝

L3 =        
cos∝     -   2  

× tg∝

Calculating L2 and L3:

1 A

L1-L2 B

)
( )

Example:
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